Al A

=3 o
2ot AFE A A Y
qE2=2 A 2l
OlEd=k 2l (Gt HM2)
RN A BRI(EH) - MRAY - BES of et o HIDE2
AR A 19,035,824 14,307,075 4,728,749
= 735,000
Al 18,300,824
9,035,824 9,307,075 A271,251
=S 735,000
Al 8,300,824
o oHE X 2e| 4,035,824 4,307,075 A271,251
= 735,000
Al 3,300,824
a5 2t 4,035,824 4,007,075 28,749
= 735,000
Al 3,300,824
el =E2e 80,000 70,475 9,525
201 er2 3| 57,600 52,100 5,500
01 AtR2t2|HI 56,600 51,100 5,500
oget=gll 56,600
oHAMN =2 43,000,000& *14] 43,000
o=R8 = 100,000& *14] 100
oXtg U= 8,000,000& *14] 8,000
oHJIZ X 5,500,000& *14] 5,500
02 S3=gHl 1,000 1,000 0
Olt=2d+x AME=
1,000,000 *14] 1,000
206 MH=H| 22,400 18,375 4,025
01 MHZH| 22,400 18,375 4,025
OMZHl 22,400
o MHIE A 13,5002 *1,000S 13,500
o HAFAISS 50,0003 58 A 250
=002 =2EH 90,0003 *58 A 450
oAS(HIEZE) 30,0002 »140% 4,200
oltsa=TAld =Xl - % M=
4,000,000 *14] 4,000
Oleds0ls S0 a2 5,600 5,600
301 etE2 NS 5,600 5,600
14 0Bt 2a3 5,600 5,600
O72(2a) A2HH 350,000& *16H 5,600
Oisda=k A8 & R 600,224 581,000 19,224
101 e124d| 100,224 81,000 19,224
M ORIMZZ2NSE S 100,224 81,000 19,224
OAlg2e| o2y 92,8002 0 12 100,224
401 AlEHIZ 201 500,000 500,000
01 Al&HI 500,000 500,000
OAIZH| 500,000




AR NBEEAYA SN ARED
M SI229| oA 22|
el DiEd=sk 2l (Gt M)
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
oli2M+E £ZIIE ¥ A= N
200,000,000 * 1A 200,000
SOISA4E A SX22
150,000,000 = 14! 150,000
ollSAM+% A& GISDB =
150,000,000 * 1A 150,000
OISateE 22 & 2 B4 800,000 800,000 0
401 A& HILE0HY] 800,000 800,000
01 Al&HI 800,000 800,000
OO AIE2AHMA HA S)
500,000,000& =1 A 500,000
OliE2dar =22 WA 2 B
300,000,000& *1A 300,000
ARPLETAIEHSH(HEAIY) 1,050,000 900,000 150,000
& 735,000
Al 315,000
401 A& HILE0HY] 1,050,000 900,000 150,000
& 735,000
Al 315,000
01 Al&HI 1,040,000 890,000 150,000
OARABEZAIE HHAIY
1,040,000,000& = 1A 1,040,000
= 728,000
Al 312,000
03 A& 2 0HHI 10,000 10,000 0
OARBLESAIE HHAIY
10,000,000& * 14! 10,000
& 7,000
Al 3,000
A 2| MEsEs 32 1,500,000 1,500,000
401 A& HILE0HY] 1,500,000 1,500,000
01 Al&H| 1,500,000 1,500,000
OSHH e Metss 32
1,500,000,000&! x 14! 1,500,000
MEPES (A=) 5,000,000 5,000,000 0
WEHeHXIZ 5,000,000 5,000,000 0
WHEHN K= 5,000,000 5,000,000 0
701 JIEISIHSEHES 5,000,000 5,000,000 0
03 BI|IHEHZHAN=EE2 5,000,000 5,000,000 0
O ANASESAH MES
5,000,000,000& *1A! 5,000,000
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